< 00, > (M)

<op/p. > (70)

Ratio

o
)

<o @> (rad)
o
=
a1

A OO @
o O O

E +
oot P o T
0. 1:— ------------------------ 0

107 1

2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)
o
=
a1

...............................

=
o
iN

1

—=— DQM_mkFit_TT_baseR3_noSel_ok
—e— DQM_mKFit_TT_base_8iter_noSel_ok
—— DQM_mkFit_TT_Retrainv2_8iter_noSel_ok

100r

20F

107 1

4
........................ - - LR
E 3
+
-
+%| | |F
------------------------- JHAE e
- ; 3
= ] wil ]l ul
F T
"""""""""""""" Bl A
L k.

1071 1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o

<od,> (um)

—
s

-
-

.........................

.........................

107 1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


